=LPDB

*UXSD 5R]NiDG $"05 - 7\J
o
™
=
n
oD
D
™
o3
7\6] 7\6]
3URIHNIRZDQH 3URIHNIRZDQIH
XQIZHWDIQH GU 9%DUIQIN XQIZHWDIQH GU 9%DUIQIN
- ORQIND =DIEFID RQ 1.QH ORQIND =DIEFID RQ 1LQH
T $"05 = $"05 -
=
O
7 7\G] 7\6]
3URIHNIRZDQUH 3URIHNIRZDQUH
XQIZHWDIQH Gl 9%DUIQIN XQIZHWDIQH Gl 9DUIQIN
ORQIND =DIEFID RQ 1IQH ORQIND =DIEFID RQ (IQH
$"05 - $"05 -
7N 7N 7N 7N 7N 7N 7\6]
3UDZR PLCG]\QDIRGRZH 3UDZR PLCG]\QDIRGRZH 8Vilyl VDPRU]GX 8Vilyl YDPRU]GX 8Vilyl VDPRU]aGX 8Vilyl VDPRU]GX =DPyZIHQD SXEIF]QH
Z GU .DQHZVND Z GU .DQHZVND JHAIRUDIQHIR = GU JHAIRUDIQHIR = GU JHAIRUDIQHIR = GU JHAIRUDIQHIR = GU GU OXFKD -UJ\VIIRI
“RIRID =DICFLD RQ XQH “RIRID =DICFLD RQ XQH GRINVIDN 3DINNFID =DICFL GRINVIDN 3DINNFID =DICFL GRINVIDN 3DINNFID =DICFL GRINVIDN 3DINNFID =DICFL =DICFDRQIQH ~ $°O
$"05 = $"05 = DRQIQH $705 DRQIQH $705 DRQIQH $705 DRQIQH $705 5
= H' Z Z Z Z
NJ  JDICFID RG =
7\G] =DPyZIHQD SXEIF]QH 7\G] 7\G] 7\G] 7\G]
=DPyZIHQD SXEIF]QH = Gl OXFKD .UT\VIRI =DPyZIHQD SXEIF]QH =DPyZIHQD SXEIF]QH =DPyZIHQD SXEIF]QH =DPyZIHQD SXEIF]QH
= 60 OXFKD IT\VIRI =DICFDRQIUQH ~ $°O = Gl OXFKD .UJ\VIRI = Gl OXFKD .UJ\VIRI = Gl OXFKD .UJ\VIRI = Gl OXFKD .UJ\VIRI
a DICFDRQIOH  $-0 5 - =DICFDRQIQH ~ $-O =DICFDRQIQH ~ $7O =DICFDRQIQH ~ $-O =DICFDRQIQH ~ $°O
= 5 - 5 z 5 - 5 - 5 -
5 DNCFLl; RG ™
x 1 3%z, GU6AV] ™ 7]
SHNVDQGHU =% =DPyZIHQD SXELF]QH
$"05 . 3"z, GUBAV] 7] = Gl OXFKD .UT\VIRI
3DZR SIHNVDQGHU =% 3URIHNIRZD =DICFDRQIUQH ~ $°O
SRGDINRZH 3RGDINL L $705 . QH 5 =
RSIDI\ (RNDIQH = I\J 3UDZR XQEZHUVDUQ
DICFID RG SRGDINRZH 3RGDIN. | :‘DU"U N
RS:DIN IRNDIQH YDUQIN -
ORQIND =D
ICFID RQ
LQH
$"05
7 7 7N 7N 7\6]
a) _ _ 37z, GUTHDVNR 37z, GUTHDVNR
2 %WRNICI\WWRZ\ ~ $7O %WRNICI\WWRZ\  $7O 37z, GUTHDVNR ODNRZVND (ZHIQD SIRI ODNRZVND (ZHIQD SIRI
= 5 5 ODNRZVND (ZHIQD SURI 8-" =% $70 8- =% $70
0 8-" =% $"0 5 . 5
3 5 - BIDIXV NRELHI Z SUDZIH BIDIXV NRELHI Z SUDZIH

6IDIXV NRELHI Z SUDZIH
SRIVNLP

SRIVWNLP = INJ  ]DICFID
GR

SRIVNLP




*UXSD 5R]INaDG

=LPDB
$"05

7\J

QLHG]LHOD

7\
3% -, GIGAV]
SIMNVDQGHU =%
$"05 R

3UDZR

SRGDINRZH 3RGDINL L
RSIDIN IRNDIQH

7\¢]
3%z, GUBAV]
SIHNVDQGHU =%
$°05 .
3DZR
SRGDINRZH 3RGDINL |
RSiDIN IRNDIQH




